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ERRR (8% 6 F/H)

R4 R3 R2 R1 H30 H29
(R6.38%)|(R4.3A%)|(R3.38%)| (R2.38 %8) | (H31.3 8 %) | (H30.3A %)
- ESf/NAv 1 2
FLIL 1 1 1 2
i ES[/NAv 1 1 1
- FLIL 1 2 1
5P |EAIL 2
FR | FAIL 4 7 6 10 11
Z Dt 1 2 1
INET 8 13 10 6 14 13
Bz 1
L
RN 1 3 1 5
BE% 6 4 4 8 8
BRI X EMERRAKEZE 1 3
p— IS 1 1 2
EFEARFTEE 2 2 6
ERRR T ENEZE 2
BRRTERE 2 3 2 2
@it 1 2 1 1
Y- R 1 2 2 5 6
L NS 2 2 2
INET 12 10 16 16 22 32
HPIRIEATRY 1 4 3 3 6
EER
Eyi 3ty 1 3 4
IR 1 2
BZERl [ —Ex 3 2 4 3 1
RE 2
BRE 1
EEHNE(E 1 1 1
EEFE 6 4 5 7 9 19
INET 12 10 16 16 22 32
EFREE 3 1
MBREE
Z Dty 1 1
A&t 20 24 29 24 36 45




